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GENERAL APTITUDE: (40 Questions) 
 
 

I: Spot the Stranger 
1. A) Abundance 

B) Plenty 

C) Sufficient 

D) Shortage 

 
 

2. A) Wool 

B) Cotton 

C) Terylene 

D) Silk 

 
3. A) Empty 

B) Occupied 

C) Unfilled 

D) Vacuum 

 
4. 8, 26, 64, 125 

A) 12 

B) 26 

C) 64 

D) 125 

5. 3, 9, 18, 20, 27, 36 

A) 9 

B) 27 

C) 20 

D) 36 

II. Choose the most appropriate response to fill in the blanks 

6. Scientist is to laboratory as Doctor is to    

 
A) Clinic 

B) Medicine 

C) Patient 

D) Disease 

 

7. Work is to relax as obey is to    

A) Discipline 

B) Behave 

C) Disobey 



D) Quarrel 



8. Maximum is to minimum as is to stable 

 
A) Good 

B) Reasonable 

C) Fresh 

D) New 

 

III. Choose the pair, the items of which bear the same relationship 
between them as the relationship between the items of the pair, 
given at the top of each question 

 

9. Physics and Science 

 
A) Drawing and painting 

B) Sketching and printing 

C) Painting and art 

D) Medicine and doctor 

 

10. Retreat and Defeat 

 
A) Charge and Advance 

B) Peace and Surrender 

C) Advance and victory 

D) Work and Success 

 

11. Yarn and fabric 

 

A) Paper and book 

B) Wood and box 

C) Cloth and coat 

D) Pulp and paper 

 

IV. Write the next number in the series 
 

 

12. 9, 10, 8, 11, 7, 12, 6, 13,    

A) 4 

B) 5 

C) 13 

D) 6 



13. 21, 28, 42, 63,    

A) 92 

B) 94 
C) 95 

D) 91 

  V. Choose the response which provides answer for the following 
 

14. If 3*4=916, 2*5=425, 1*7=149 then 4*5=? 

 

A. 232 

B. 1625 

C. 525 

D. 1078 

 

15. If 5*71=40, 92*23=55, 37*44= 80, then 54*32=? 

 

A. 17 

B. 54 

C. 100 

D. 45 

 

 
VI. Choose the response that will continue the given series 

 

16. 353, 464, 575,    
 

A. 686 
B. 764 

C. 777 

D. 796 

 

17. 246, 357, 468, 579,    
 

A. 759 

B. 680 

C. 678 

D. 459 



VII. Choose the most appropriate response 
 

18. If the word ‘STAND’ is written in code as TSBMC, then how would you write 

‘SLEEP’ in code? 

 
A. MKODS 

B. TKFFO 

C. RGMMB 

D. FFOTK 

 

19. If JOEJB means ‘India’ ,then the last letter of the word got by decoding BSNZ is 

 

A. W 

B. X 
C. Y 

D. Z 

 

20. If FLOWER is coded as UOLDVI, what is the word represented by the code 

NVIRG? 

 
A. MERIT 

B. NURIT 

C. MIRUT 

D. MARIT 

 

21. The line demarcating the boundary between India and China is : 

 

A. Durand line 

B. Radcliffe line 

C. Mc Mahon line 

D. Strafford line 

 

22. Zimbabwe was formerly known as 

 

A. Zanzibar 

B. Rhodesia 

C. Bechuanaland 

D. South West Africa 



23. Which country is known as “Land of the Rising Sun”? 

 

A. Japan 

B. China 

C. North Korea 

D. Vietnam 

 

24. Bauxite is an important ore for 

 

A. Copper 

B. Zinc 

C. Iron 

D. Aluminium 

 

25. The brightest planet is 

 

A. Venus 

B. Mars 

C. Mercury 

D. Jupiter 

 

26. Leh is situated on which river? 

 

A. Jhelum 

B. Indus 

C. Chenab 

D. Shravati 

 

27. Imphal is the capital of 

 

A. Tripura 

B. Manipur 

C. Mizoram 

D. Nagaland 

 

28. River Ganga, beyond Farakha, when it enters Bangladesh, known as 

 

A. Meghana 

B. Vana Ganga 

C. Padma 

D. Hooghly 



29. The Indian Constitution was adopted and enacted by the Constituent Assembly 

of India (now the Lok Sabha and Rajya Sabha) on 

 
A. 9th December 1946 

B. 15th August 1947 

C. 26th November 1949 

D. 26th January 1950 

 

30. The only land-locked and protected port in India is 

 

A. Kolkata 

B. Chennai 

C. Paradip 

D. Visakhapatnam 

 

31. Where in India is the great one-horned rhinoceros found? 

 

A. Kaziranga 

B. Gir forests 

C. Kanha 

D. Dudwa 

 

32. Which state in India has the highest literacy rate? 

 

A. Andhra Pradesh 

B. Telangana 

C. Kerala 

D. West Bengal 

 

33. Kuchipudi is a famous dance form of 

 

A. Karnataka 

B. Andhra Pradesh 

C. Assam 

D. Uttar Pradesh 

 

34. Which city in India is known as “Pink City”? 

 

A. Jabalpur 

B. Ladakh 

C. Jaipur 

D. Bengaluru 



35. National Physical Laboratory is located in 

 

A. Mumbai 

B. New Delhi 

C. Ahmedabad 

D. Hyderabad 

 

36. The river which flows between Vindhyas and Satpuras is 

 

A. Narmada 

B. Tapti 

C. Chambal 

D. Godavari 

 

 
37. Agra is situated on the banks of which river? 

 

A. Godavari 

B. Gomati 

C. Yamuna 

D. Ganges 

 

 
38. Which of the following is not a Union Territory? 

 

A. Lakshadweep 

B. Mizoram 

C. Daman and Diu 

D. Pondicherry 

 

39. The oldest oil refinery in India is located at 

 

A. Haldia 

B. Barauni 

C. Kochi 

D. Digboi 

 

40. Hirakud multipurpose project is on which river? 

 

A. Mahanadi 

B. Sutlej 

C. Indus 

D. Godavari
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